bud337 Friday, October 08, 2010

BS1-00-2&1 RETRIL (08T OF SALES1 RIVERELLE

0.m Jen 20LO 282, 50000 40,255, 00

0.m Axr 2000 282, 50000 I83, 240, 0]

0.0 Mwy 200D 262, 50000 ZL0,596. 00

0. m Jul IOLO 263, 50000 I73, &40, 00

0.0a Sap ZOLD 262, 50000 42,500, 00

0. Hew Z0LD 2ed, 30000 5%, 000, 0

Slide 1

Slide notes: On a Budget screen, we can use 'Copy Minus' to translate the previous
Budget, together with a Decrease %, as the new Budget.
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E51-00-252 BETALL COET OF BALEH AIVERELME

(| D.m | Jwn2mD 262, 50000

0. W Mxr 2000 2€2, 50000 43, =40, 00
0. W Mwy 2010 2€2, 50000 ZL0,598. 00
0. Jul 2000 2€2, 50000 33,440, 00

0. Sep 2000 2€2, 50000 42,500, 00
5%, 000, 09

[ Neww IOLO 262, 500-00

Slide 2
Slide notes: But 'Copy Minus' needs a Decrease % to be stated, else it does not work.
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Slide 3

BE1-D0-2&1 PETRIL COET OF BALEH AIVEREILE

2g3, 50400

2E3, 50000

2E3, 50000

262, 50000

262, 500.40

262, 500.40

Slide notes: Now that we have stated a decrease %, we will see the effect.
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Slide 4

Slide notes: And here we have a new Budget that is 20% lower than the previous
Budget.
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Slide 5
Slide notes:
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